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Ques # :1

Which one of the following is not a correct component of 'Arthasastra'?
1) Realism

2) Amoral

3) Statecraft

4) Materialism

AT & @ A v F1 G e ALT §:
D) Zerefarg

2) Afehrar-faver

3) TSI Fell

) siifaeRare

Ques # :2

Which one of the following pairs is not correctly matched?
1) Buddha - Dhamma

2) Kautilya - Seven limbs of the state

3) Mahaveer - Nirvana

4) Manu - Welfare State

e & e st gAfAT 7ET 22
D g - e

2) Fifeed - T i A1 T

3) TR - fAaior

4) ] - N FHeATUTHRY T

Ques # :3

Which one of the following is the treatise from where Swami Dayanand Sarswati borrowed the conception of
monarchy?

1) Arthasastra

2) Manusmriti

3) The Life Divine
4) Anandmatha

o 7 O Pl § 7= A Tar e GIEF! A TTdeT Y FATUROT FHY form:
D) 3rehemes

2) AerEAfa

3) & oIrst SrarseT

) eHS

Ques # 4



Match List-1 with List-ll and select the correct
answer by using the codes given below the lists:

List-l List-ll
(a). Dayanand Sarswati (1) Doctrine of Natural Rights
(b). Syed Ahmed Khan (2) Spiritual Nationalism
(c). Aurobindo Ghosh (3) Secular Education and Islamic Theology
(d). Ram Mohan Roy (4) Vedic Revivalism
1) a-4,b-2, c-3, d-1
2) a-4, b-3, c-2, d-1
3) a-2, b-3, c-4, d-1
4) a-3, b-2, c-4, d-1

-l g Tl T fena J= e e | fet & fifad
- -

(a). gaTelg |IXadr (1) IThfae FTEHRT HT HTERON

(b). §Oe 3EAE W (2) HTeATCHE Tsgdle

(c). fdg =9 (3) e faTaT fORTT 9 sTamd R
(d). T Higa 7T (4) 3fea Tefeane

1) a-4,b-2, ¢-3, d-1

2) a-4, b-3, c-2, d-1

3) a-2, b-3, c-4, d-1

4) a-3, b-2, c-4, d-1

Ques # :5

Match List-1 with List-ll and select the correct answer
by using the codes given below the lists:

List-l (Author) List-ll (Book)

(a). Syed Ahmad Khan (1). Satyartha Prakasha

(b). Dayanand Sarswati (2). The Life Divine

(c). Aurobindo Ghosh (3). The Causes of Indian Revolt

(d). Dadabhai Maroji (4). Poverty and Un-British Rule in India
1) a-4, b-3, c-2, d-1
2) a-4, b-2, c-3, d-1

3) a-3, b-4, ¢c-2, d-1
4) a-3, b-1, c-2, d-4

Gall-1 &1 TAere Il & o Qv are el T Sgraar §, @el 3R olied

- -
(a). Tag 3EaAG G (1). Gcare! wemrer
(b). eaTele, TXEadr (2). & 5% Stasa
(c). 3fde 9y (3). FroaT 3% sEaa Raee
(d). ErereTs ARSI (4). Wradt vs e-fafeer v s sfEar
1) a-4, b-3, c-2, d-1
2) a-4, b-2, c-3, d-1
3) a-3, b-4, c-2, d-1
4) a-3, b-1, c-2, d-4
Ques # :6

Who among the following is known as an empirical economist rather than a speculative metaphysician?



1) Dayanand Sarswati
2) Jawaharlal Nehru
3) Dadabhai Naroji
4) Mahatma Gandhi

foreer & & ey TR Acaenmel S T JrepIaTcHAE AT ST 1T 82
D gareie areadh

2) STaTEIeITeT g%

3) EreTHTS ARG

4) FrgrenT afed

Ques # 7

Ram Manohar Lohiya was an advocate of:
1) Decentralized Socialism

2) Orthodox Marxism

3) Guild Socialism

4) Syndicalism

A AeAle AT wAdw &
D fasfees gaTerae &

2) ORI ATFYATE &

3) Sof gATSTaTE F

4) YA Gerare &

Ques # :8

Match List-1 with List-Il and select the correct answer
by using the codes given below the lists:

List-l List-lI
(a). Mahatma Gandhi (1) Sarvodaya
(b). Jai Prakash Narain (2) Panchsheel
(c). Jawaharlal Nehru (3) Trusteeship
(d). Vinoba Bhave (4) Total Revolution

1) a-3, b-4, c-2, d-1
2) a-4, b-3, c-2, d-1
3) a-2, b-4, c-3, d-1
4) a-4,b-2, c-1, d-3

-l @ el &1 Fere J R e @8 gt & fifed

- -
(a). AGICAT aTrel (1) \afeT
(D). T WhTA AR (2) g=refrer
(C). STaTEHTe #6® (3) =fEar
(d). fa=iraT 7 (4) O it
1) a-3, b-4, c-2, d-1
2) a-4, b-3, c-2, d-1
3) a-2, b-4, c-3, d-1

4) a-4, b-2, c-1, d-3



Ques # :9

Assertion(A) : Satyagraha is a spiritualized and moralized form of the concept of resistance. Reason(R) :
Because it does not stress on a moral teleology.

1) Both A and R are individually true and R is the correct explanation of A.

2) Both A and R are individually true but R is not the correct explanation of A.
3) A is true but R is false.

4) A is false but R is true.

FrRIITEF FUA(A) : FATIE YA $Y FTURT FT T HTEATAF Ta AfFard) Fae9 §| aH(R) -
FAIF I§ A WgAIAIE W T AT &aT|

D) AGREA T ST H T E TR, A HT TE [AdTaT &

2) A TR ST Tahreh! €9 7 T &, et R, A 7 HE) AT 78T &
D ATTE, AfFATRTITE

DATATE, AT RTTE

Ques # :10

Which one of the following is not a component of B.R. Ambedkar's ideology?
1) Significance of Man.

2) Rationality.

3) Samata Sama;.

4) Graded Inequality.

T 7 A, 31, ofie T s HT A foar awT F1 Fiaar Favor AT 2
D) eofa 1 #Ageca

2) qépeeTa

3) g&Ear gATST

4) Fofiepe - e

Ques # :11

Which one of the following is not an element of Jawaharlal Nehru's concept of democratic socialism?
1) Planning

2) Economic Equality

3) Conservation

4) Social Change

STATETAT S8 hI YIS GATSAIE $ TR H, fAFT & A HiaaT aayor 18t 82
D g

2) 31 GHATETAT

3) wgrarg

4) granfoes afads

Ques # :12

Who among the following ancient writers is called as the 'Mechiavelli of India'?
1) Kautilya

2) Shukra

3) Manu

4) Brihaspati

frafafad e dEH & I fFA A1 '9IRd F1 AFaafa Faa 82



D) fiftey
2) o
3) 7157

Y qreata

Ques # :13

The highest end of life according to 'Jainism' is :-
1) Attainment of Power

2) Full Satisfaction

3) Nirvana

4) Earn wealth

AT €3 F IHTAR Saet FT ITdcan q&q ¢ :-
D) erfga 3rareT

2)t£JSN;FI>rlsr

3) faior

4) erraTeteT

Ques # :14

Who advocated the concept of 'Partyless Democracy'?
1) Ram Manohar Lohiya

2) Jai Prakash Narain

3) Jawahar Lal Nehru

4) Rajendra Prasad

' GATAEI ol ' & g & TAd® i 2
D) g Aete ofear

2) ST YehTeT SARTIOT

3) STaTET oITeT g%

4) Troig waTS

Ques # :15

Who authored the book "Marx, Gandhi and Socialism"?
1) Vinoba Bhave

2) Ram Manohar Lohiya

3) Rajendra Prasad

4) Jawahar Lal Nehru

AT, e s ArfasH qEaw & AwE FiT 42
D) e a1mar

2) 31 AR SR

3) Tr5tg e

4) STaTeY STl g

Ques # :16

Who opposed the village as the basic unit of Indian political system in the Constituent Assembly?
1) H.V. Kamath
2) B.R. Ambedkar



3) Jawahar Lal Nehru
4) K.M. Munshi

ATAUTeT THT A T Y SR Y ASAATA cTTEAT FY TR SHIS Fellet HT Tarer fFaer fmar ar?
D wr. &t oy

2) &Y. 3. 35

3) STaTEX Tl AT

Y &, wA. M

Ques # :17

Which aspect of Kautilya's Six fold Policy(Shadgunya Niti) is related to 'Marching'?
1) Asana

2) Vigrah

3) Samsraya

4) Yana

Fifeew Fr wavy Afa F7 Hlear ga7 e F F FEfAa ?
D et

2) Ryarg

3) s

4) g7e1

Ques # :18

Who among the following is not connected with the Buddhist tradition:
1) Aswaghosa

2) Nagarjuna

3) Kundacharya

4) Dingnaga

fArAifPa & ¥ Fia sig W @ grafa agi ¢ :
1) 3reqeny
2) STt
3) Frrary
4) fEaTaATeT

Ques # :19

Consider the following statements regarding Ziauddin Barani: 1. He introduced the concept of Individual in
Indian Poltical Thought. I1. He combined the Islamic idea of Religion with the Turkish idea of Kingship as the
only way to create order in Society.

1) Only I is correct.
2) Only II is correct.
3) Both I and II are correct.
4) Neither I nor II is correct.

e 3= ¥ grafta Reafaf@a ) fFaR AT 1. 378 srdT tefafas Raa J
FATYH STFT T FeTT &I $T | 11 3761t TATS H STTEAT F TYTIATY 3 & gFared! A=
TS AT & <ohf & f=r & e

D &aer 158§

) Faa N TEE



31w ng=tadrg
Daar,aduadry

Ques # :20

The concept 'Jawabit' refers to :-
1) Natural Law

2) Divine Law

3) Eternal Law

4) State Law

Sarfea #1 RAgia gFafa g :
D) vrepfa e

2) e repet

3) qmedd Fele

4) T2t

Ques # :21

Identify the incorrect statement regarding Raja Ram Mohan Roy :
1) He supported the moral principles of 'New Testament'.

2) He opposed the Jury System of Justice.

3) He thought that Sanskrit knowledge kept India in dark.

4) He rejected the idol worship.

TSAT I AT AT F Foaetr 7 Yot Foer : vganfav :
D) 3egiet g Seemie & o Rgiat & waeie fham

2) 3egieY =g T ST Tl a1 AR faRam)

3) 3oTanT WIareT AT fof HEF AT o 8T 1 3HR F T
4) Segiey YT T 3rEdh R

Ques # :22

Among the following, which book is not authored by Swami Dayanand :-
1) Rigvedadibhashya Bhumika

2) Asthadhyayi Bhashya

3) Mahanirvan Tantra

4) Sanskar Vidhi

forifara & & Flerelt gras Tar garee gar foreh g et @ -
D) aqerfessa syfa

2) arseTeary dTST

3) Fgrdior

1) gehr fafY

Ques # :23

Which Political institution was founded by Sir Syed Ahmed Khan specifically 'to discourage popular political
agitation among Muslims?

1) Muhammadan Anglo-Oriental Defence Association of Upper India
2) United Indian Patriotic Association

3) Muhammadan Political Association

4) British Indian Association



' AHEATA! & S AH I STl Hearer HI galcaTed FIA & A0 X 44 IEAg @ o
fareive: e TreTeifce ST T FuTgeT $ o2

D) sgrase dear-3nfuvee fSthew Tafawers 3w 3R $fear

2) geTrses $feae dfEanfes vafauer

3) FeFAs Nt vafTers

4 fafeer $f3as varfdvee

Ques # :24

E.V. Ramaswamy Naicker termed the nationalist demand of Swaraj as :-
1) Manifestation of Self Respect

2) Call for Cultural Humanism

3) Acceptance of Pluralism

4) Conspiracy of local elites

.. TATETHY ATIFT o FaTST Y IASCATEY AT FY Fg -
D) strerasAT 7 fdeaiad

2) HER T HIATE HT TR

3)6@31313@1—‘&?%

4) YT J3Y3HT hr AT

Ques # :25

Identify the incorrect statement regarding M.K. Gandhi's 'Hind Swaraj' :
1) It is a response to violent Nationalists.

2) It defines Swaraj as 'Self Government'.

3) It views British Rule as '"Modern Civilization'.

4) It is written in dialogue style.

TA.F A F 1 Res Fawer & gEaey F Jleqet Fue Ft ggarfav
D) 75 fweh Tregarfedt ot Tegeai |

2) g TS T EIATEA & F9 H qRATRT I B |

3) 71 fafeer Tt @t 3y T & w9 7 @ |

4) 7§ Hae A A Frdr v |

Ques # :26

The last political party founded by B.R. Ambedkar was :
1) Republican Party of India

2) Independent Labour Party

3) All India Scheduled Castes Federation

4) Dalit Panthers

.3 IFAsHT G@RT TR 3w Toreiifas gar ar:
1) Rafeererst urdt 3itw sfzar

2) sise dav arst

3) 3ifer $f3a A5Yes FRECH HNAA

4 gfoa deus

Ques # :27



The concept of 'Rishi Kheti', devised by Vinoba Bhave means:
1) Farming organised by Ashrams

2) Farming without using Bullocks

3) Community Farming

4) Subsistence Farming

faiaT s garr 9fora H R A & Rgia w13rd 2
1) srarett garT e @

2) it & weT faar @l

5 o ach

4) forafg @

Ques # :28

The essence of Jai Prakash Narain's understanding of Democracy is :-
1) Occupational Representation

2) Class Co-operation with change of Heart

3) Revolutionary People's will

4) Anarchism

STAYRTT ARTIYT I AlhaT Y THAST HT TR &:
D) eqrgar¥e yfafafca

2) geg-qRads O 997 - g

3) ST ST - 3TT

4) IRTSTeRaTaTE

Ques # :29

Consider the following regarding Amartya Sen : I. He appreciates the 'Pereto Optimal'. II. He emphasizes on
the equality of capabilities rather than the equality of resources.

1) Only I is correct.

2) Only II is correct.

3) Both I and II are correct.
4) Neither I, nor II is correct.

A F A grafea faeafaf@a Fyal  FaR A - 1L 3 R srqmaas A WA g |
11. 3 AT HY AT F T &TAAHT AT FAAT R AT ST & |

D a1 adrg|

2) I 1 T E |

3) 1ua 11 @t T

DIAANL TN T

Ques # :30

For which work Amartya Sen was awarded Noble Prize for Economics in the year 1988 ?
1) Formulation of Human Developmeny Index

2) Social Choice Theory

3) Studies in Gender inequalities

4) Economics of Famine

A [ Y 37 FFa F197 & FAw ad 1988 3 srdhermes T Alaer [ERR TaTeT fam arar 2
D) #Are1a faerra e &1 fa#Tor



2) graTTors a9 fAgid
3) e AFATAAT3IT T 3T
4) 31eRTer T 37T

Ques # :31

De-facto sovereignty stands for :
1) Legal sovereignty

2) Actual obedience to commands
3) Popular sovereignty

4) Political sovereignty

AT FS[HedT T AT § -

D) Fregett wereedr

2) 3mreRit & arEdideR AT
3) alver T FereredT

4) Trare e gereedr

Ques # :32

Which one of the following schools argue that the concept of sovereignty be removed from political theory ?
1) Pluralism

2) Idealism

3) Fascism

4) Marxism

et # @ Fiae Ter 1 9% aF § B TeHear F FTURON F UTATT g ¥ e dar afge ?
D) sgerarg
2) e
3) wrefare
4) FTRiaTe

Ques # :33

According to Subaltern view, the function of the state is to promote the interests of :
1) Dominant Class

2) Marginalized Groups.

3) Ruling Class

4) Elite Class

HeT (AR T9) Y T F IR, TS FT 1 WcHTG 3T ¢ :-
D) graemely ast & fat &7 |

2) g1fre o) WS FHETE & Rl A |

3) qmees g & Tl T |

4) faferse et & fgat &7 |

Ques # :34

Which one of the following is the method by which the developed countries exercise their influence over the
post-colonial states?

1) Diplomacy
2) Economic Aid



3) Trade
4) Commerce

o 7 & a8 Fiad) ugfa §, 9F Aregsw @ RAemreiier 32r, 3ca-3ufaaead) U= 9¥ 3r941 vera
TIRT FAE ?

D e

2) 3nféies eI

3) =R

1) arforsg

Ques # :35

According to Max Weber, the best type of legitimate authority is :-
1) Traditional

2) Charismatic

3) Legal-rational

4) Legal

AFH Ao F ITHR, FIASE LT WA :
D qiermera & |

2) AT ¥ |

3>%@$-%ﬁ${ﬂ‘r%\

WACIBCo S

Ques # :36

According to Marx, no political system is legitimate unless it strives for the :-
1) Emancipation of Man

2) Maintenance of Law and Order.

3) Moral upliftment of Man

4) Good Life

ATFE & HTAR F1E 5t Ao caavar du ad }, 519 a% a5 g ¢ &< :
) e i agf 3 faw |

2) FIeTeT UG SATEAT TS et & FIT |

3) TS & i 3 W |

1) 3 NaT W |

Ques # :37

Which one of the following statements convey the meaning of legitimacy ?
1) It means an effective poltical system

2) It means the capacity to produce and maintain a belief that the existing political institutions are the most
appropriate for the society.

3) It means a belief to reform the existing political institutions
4) It means to bring about a change in the process of governance.

fAF =T FUAT H T FIFTT 'FeIAqr 1 3MAT IATATE ?

1) sqept areq? wsrarrel Teteiifaes cqaear d g |

2) sgeT dIca3 ¢ for THY 31T 3ctest el 31T 38 1 I@=T & Tafold Toleiliae SEATT HAHTST
o fore gaTferes 3ugea ¢ |

3) SHaT T 38 HTEAT § § Y vaford Ut Hensit & uR ae |



4) ggeRT aTca & R et Y ufhar F aRade o |

Ques # :38

Which of the following pars is not correctly matched?
1) Dejure sovereignty : Legal

2) Defacto sovereignty : Factual

3) Titular sovereignty : One who actually uses the power
4) Popular sovereignty : Power of the people

e # & wleran sisT AT 76T 22

D) faftrasaa d9egar - Fege

2) TS FYICT - TAHS

3) ATHUTY T - I i ATF T TATY 3 T4 FRAT &
4) e for T - STtelr i rfereT

Ques # :39

Which one fo the following methods is the best for the representation of minorities?
1) Proportional representation

2) Single vote system

3) Commulative vote system

4) Proxy system

HeTHETH! & yfafaftca F v, Ax & ¥ Flad wgfa aadse § 2
1) 3o SRR

2) Gehel Hd JOTTN

3) ArHfee A SoTen

4) qRred gomelr

Ques # :40

Who among the following thinkers is regarded as 'the first scientific socialist thinker'?
1) St. Simon

2) Proudhon

3) Robert Owen

4) Karl Marx

AT ARl & ¥ 'vyw dfas gATeaK! faRs sla AT Iare 2
D) g areaa

2) gyest

3) € et

4) rey AT

Ques # 41

Assertion(A) : Fascism is the enemyof democracy Reason(R) : It crushes liberty of the individual.
1) Both A and R are individually true and R is the correct explanation of A.

2) Both A and R are individually true but R is not the correct explanation of A.

3) A is true but R is false.

4) A is false but R is true.



foreear qd® FU(A) : FIHNAIE TSTAT T AT & | TH(R) : T§ SATF Tl 1 GoF TG & 7 HIAT
g

D ATRAFM THFR TTHTTE TR, A FT T AT § |

2) A G R ST TRt § F T &, SIfheT R, A 71 TE) A9 &1 & |

D ATTE, AFAR AT |

DATITE, AfFTR AT E |

Ques # :42

Match List-A with List-B and select the correct answer using
the codes given below :

List-A List-B
(Thinkers of contemporary Liberalism) (Core Idea)
(A). Isaiah Berlin |. Creative Freedom
(B). F.A. Hayek II. Incremental Change
(C). Karl Fopper lll. Negative Freedom
(D). C.B. Macpherson IV_ Difference between Injustice

and Misfortune

1) A-IIL, B-1V, C-I, D-II
2) A-l, B-11, C-III, D-1V
3) A-III, B-1V, C-I1, D-I
4) A-IL, B-1, C-1V, D-III

FA-A H FEA-BE A gATAT o gur gt & A
few arw el &1 99T FR §T el IW AT

A w8
(FAFRIA 3gRAE & Reas) (A feram)
(A). ST afcter | TaATcHS Tadad]
(B). U.T. §T& Il 3R af@der
(C). FTel 9T ll. AFRIcHAS TadAd]
(D). T.&r. FAahes V. 37T UG gHET # 3R

1) A-IL, B-1V, C-1, D-II
2) A-I, B-II, C-III, D-IV
3) A-TIL, B-TV, C-I1, D-I
4) A-IL, B-I, C-1V, D-III

Ques # :43

Match List-A with List-B and select the correct
answer using the codes given below :

List-A List-B

(Marxist Thinker) (Core Idea)
(A). Lenin |. Spontaneity of the Masses
(B). Rosa Luxemburg ll. Passive Revolution
(C). Mao-Tse-Tung lll. Venguard of Revolution
(D). Gramsci V. Mass Line

1) A-L B-III, C-II, D-IV
2) A-IIL, B-1, C-TV, D-II
3) A-1V, B-I1, C-II, D-1I
4) A-IIL, B-1V, C-II, D-I



TE-A F FE-B & wrr gAfera hiferdr qur gt & e
few arw el &1 vEET FA §U el I|W AT

HqE-A q=-B

(FRERIA 3ERaE & RAeas) (A7 fe=m)

(A). arfaa | ST T Fad Tl
(B). =T Saratergdr Il ST wifa

(C). AT~ Il. ST &7 A
(D). et V. 5= feam

1)  A-L B-IIL, C-II, D-IV
2)  A-IIL B-1, C-1V, D-TI
3)  A-1V, B-IL, C-III, D-I
4)  A-IIL B-1V, C-II, D-I

Ques # :44

Among the following, what is not in conformity with Environmentalism :
1) Spaceship Earth

2) Gaia Hypothesis

3) Cartesian-Newtonian Paradigm

4) Bio-Centric Equality

fasifra & @ 41 qafaorare A sregeaar # 7A€t & -
D wqafirg gedy

2) FT3TAT qHETAT

3) Fréforae - Fgafae farfs

1) Sa »fegd gHar

Ques # :45

Which stream of Feminism underlines that "'Woman's way is the better way' :
1) Radical Feminism

2) Liberal Feminism

3) Socialist Feminism

4) Cultural Feminism

ariare Y FiaEY aRT I8 I@ITFT FId § AT F1UEar IgaR TEATR 2
D) 3mger aftacerardr aiar

2) 3ERATE AaTe

3) gHATSTard) AfYaTE

4) Feg o AT

Ques # :46

Consider the following statements regarding Adam Smith : I. He was in favour of Laissez faire, but not in a
Minimal State. II. He supported large number of government programmes in Education, Public Health and
Labour regulations.

1) Only I is correct.

2) Only II is correct.

3) Both I and II are correct.
4) Neither I, nor II is correct.

vsH Ay & grafa famafaf@a e« w A fIf9 : 1. 3 sreeaaivar & garer 9, fFeg



TIATH ST & o781 | 11 3ogiar e, Widorfores Ty vd 4% - fagsr=it & a8) wear Ff Wi
FIARAT T TS foham o7 |

D) draer 1 @@

2) Srerel 11 TEY &

3) 1ud 11 QYT T

VDANL AT T

Ques # :47

Identify the incorrect statement regarding state in Marxist perspective :
1) State is a component of Super Structure of the Society.

2) After the Proletariat Revolution, State will be eliminated forcefully.

3) State is a creation of antagonistic class divisions in the society.

4) State is always dictatorial for the dependent classes.

AFHAIE) TRIET A T  FFaftd Jeqet FU= FI qgarav :
D) 1o gt i 31fORae T & Th gew § |

2) FAERT Fifet & 916, Vs T TelIdh SeHeleT Y [&GAT ST |
3) o7 FATST 3 FAREqUT g9 TSI Y T |

4) 3referey gait & T ToT Gea RAEHad @1aT ¥ |

Ques # :48

Consider the following statements regarding Post Colonial State : 1. Governability is a continuous and
growing concern. II. It distinguishes a 'Strong' State from a merely 'Despotic' one.

1) Only I is correct.
2) Only II is correct.
3) Both I and II are correct.
4) Neither I nor II is correct.

Icae-3itufadeas T & GFa= & Aeaifhd Fy«1 W faga Ao : 1. werahadar e AiaR v
AT TAFR ¢ | 11 T§ TF "FAFT ToF ) 0F "o vea & R swar g |

D daer 1 @8

2) FaeT 11 GET |

3) 1ud 11 St FE ]

DI LT NTEE

Ques # :49

Identify the incorrect statement of Austin on Sovereignty :

1) Only after including the Sovereign, any Society becomes political and free.
2) No abstract nation can be Sovereign.

3) Law is a dictate of Superior authority to Subordinate.

4) There is a difference between De facto and De Jure Sovereignty.

ST R 3T &5 ARV ereT Y T

D) goraedrendt afge et TR & IS FATS Tsteiifoeh Td TaaT g g |
2) F¥S 31T ROT FHTATURY 6T 81 Fehell ¢ |

3) FIeTeT STTATAHNY SaRT AT Y 2T 17 MU § |

4) aeaETAd vd fftreeAd gadear & fg g



Ques # :50

Among the following, what is not related to Hannah Arendt's conception of Power :
1) Creator of Subjectivities

2) Not Power over, but Power to

3) Power as Congent

4) Increased ability due to Collective Actions.

f=tifFa & @ 41 gt e Y 'AfFT A Fhoqar A Frafa T@i e :
D) streAaweransit i e

2) & IR AT, & ufar afFa

3) gewch & wq #F afed

Y qrefeeh FIATS & FROT I §S &

Ques # :51

Power legitimized is considered as: -
1) Authority

2) Influence

3) Manipulation

4) Force

der orfFa AT ST & -
1) Hear wfer)

2) g1a

3) TorarsteT

4) g

Ques # :52

The Burke-Paine dispute on Rights was not centered on:-
1) Rights being contextual or Universal

2) Rights being Real or Imagined

3) Rights being Historical or Natural

4) Rights being Economic or Political

HOFRI W 75-91 Rag Frga agiar:
D) 3Rt & gestera ar ardaifae @ a1
2) 31RT & arEdidesh AT FHleUlels glel I
3) stftreRt & ufaerfae a1 wrsfas et
4) 3ERT F 3T AT TSN TS gl W

Ques # :53

What is in conformity with the Marxian conception of Freedom? I. End of Alienation. II. Exposition of Human
Creativity. II1. Allegiance to an Ideology. IV. Self Realization.

1) LI and IV
2) Il and IV
3)Iand I
4) III only

TIATAT & ATFHIT FhedalT 3 IHeTET F41 8 2 1. Fafeoewrar 1 37 1. Ao Temufiar i



FfFeafEa) 1. R & gfa et 1v. sreafafy
Dinwamwv

B RNy

31wd

4) Sheret 111

Ques # :54

Among the following,who is not related to the 'Equality of Resources' :
1) John Rawls

2) Eric Rakowski

3) Ronald Dworkin

4) Michael Walzer

faw=ifha & @ Fl9 ‘gAY HY a7Har § gEEAT Ad g -
D) Siter tew

2) ufter Qenreeh

3) Qeres galfdhet

4) ATgHhoT dicoR

Ques # :55

The term not connected to the John Rawls Theory of Justice:-
1) Veil of ignorance

2) Lockean Proviso

3) Original Position

4) Lexical priority

STt e F AT ¥ FaAT ygrae A ¢ :
1) 3re11et ot el

2) FArERT R

3) et Feurfay

4) faRr gdar e

Ques # :56

Identify the incorrect statement regarding the Classical theory of Democracy:
1) It is a type of Guided Democracy.

2) It is a Direct-Participatory Democracy.

3) It serves a Common good,targeted to attain Good Life.

4) It is a Pre-Liberal theory of Democracy.

dlhda & R grAa Reid & graey & JRqol Fy« Ft gg=nfav
D) gg ERIT oerd T T T TR § |

2) Ig T YcTeT - TN o7 & |

3) 715 Testast 3ToTd Fe &1 3R AR T e & QU T ¢ |
%) 7 wiehc &1 U T4 3ERATET RAgid ¢ |

Ques # :57



Match List-A with List-B and select the correct
answer from the codes given below:

List-l List-lI
(Democratic Theory) (Thinkers)
(A) Protective democracy (I} Schumpeter
(B) Developmental Democracy (I J.5. Mill
(C) Democratic Elitism (Ill) Robert Dahl
(D) Pluralist Democracy (V) Jereny Bentham

1)  A-L B-II, C-1V, D-TI
2)  A-L B-IIL C-III, D-IV
3) AL B-I, C-1V, D-III
4)  A-IV, B-II, C-1, D-TII

T-A ST Fe-Ba @rr gafaa Hifad qaor
AT & A few T FHel T U FId §U Fe IW IET

q-A q=-B

(Ao Rreg) (Rrawa)

(A). Gi&TF dldhda | grediex

(B). fasrrarcHs dighds . or.va.fae

(C). Aihdrieser 31faelerarg . Ta¢ sTEa
(D). Sgerarel e V. ST dorm

1)  A-L B-IIL, C-IV, D-II
2) AL B-II C-1II, D-IV
3) AL B-I, C-IV, D-III
4)  A-1V, B-II, C-I, D-III

Ques # :58

Consider the statements regarding Marx's views on Democracy : 1. In enlightenment tradition , he visualizes
Democracy as an organic community. II. Bourgeois Democracy opportunistically converts in Bourgeois
Terror.

1) Only I is correct.
2) Only II is correct.
3) Both I and II are correct.
4) Neither I nor II is correct.

dAlhdd WX ATF & R @ I fdd Y« W AR AT : L 9@y - TR & 3 diFad # 06
HINF FHGTT & T A 3@ ¥ | 11 T Aefei FTATTEH 3T HTeih A a5 AT |

D &aer 1@ g

2) Fae 11 /& &)

3) e 11 @t Y

DANL TN NTEE

Ques # :59

Which one of the following is a model of Representative Democracy ?
1) Polyarchy

2) Plebiscitarian Democracy

3) People's Democracy

4) Totalitarian Democracy



fAwifha & ¥ a1 vt TRAfAeATcA® dihdd FT RIS
l)m

p HIEHTS eliehc

3) ST - Sk

4) gt fORRaTer e

Ques # :60

Identify the teminology, not connected with Deliberative Democracy:
1) Discussion based consensus

2) Pre-fix preferences

3) Open and uncoerced discussions

4) Ideal speech condition

I ATl Y ggaTfaT, A Aaeff Aeay @ grafta adi e :
D) & 9T 3menia deaeh

) qf - v e

3) el o SR o

4) 37eet ST ZR

Ques # :61

Which of the following countries is the best example of a flexible constitution ?
1) US.A.
2) France
3) Britain
4) China

e GfaeTe #1 gd9vs U Amfaf@d F ¥ laar e d 2
D) wged v 3Ra

2) iy

3) Ryee

4) He1

Ques # :62

Which one of the following is the strongest upper chamber in the world ?
1) Senate (USA)

2) Senate (Canada)

3) House of Lords (Britain)

4) Rajya Sabha(India)

foreer 7 & fored &7 wa® arfFaermed SR wew it 3 2
D dete @gea Tsa 3@

2) Hieie (e

3) &IfS qam (freaT)

4) =T THT (3R

Ques # :63



Which one of the following is the treatise wherein the theory of Separation of powers has been formulated ?
1) Introduction to the principles of Morals and Legislations.

2) Representative Government

3) The Spirit of the Laws

4) The Politicus

foear 3 @ a5 7=y e § Srws afFa Rsmrera #1 Rgia giagand 2
D) gorswert ¢ & Rifduew 3w Altew U3 Afsraeras

2) Ryeteefea araeteie

3) & feaRe 317w aiter

4) & uifafesa

Ques # :64

Which one of the following pairs is not properly matched ?

1) Unitary Constitution- A single central government

2) Federal Constitution- Division of powers between the Centre and the States

3) Parliamentary form of government- Prime Minister has a fixed tenure

4) Presidential form of government- President is both the nominal and real executive

e st & & iea Fivw gAfRT A § -

1) wentcAe @9 - Teh shedl TR

2) gy e - g vd T=at & S AfFaat 1 seanT

3) GEERT AT YT - GUTAHA & eiRa sriere g &

4) 3regefa ATHeT JOTrel - Treeufay et ATy Td T2 SriaTohT 8idT &

Ques # :65

Which one of the following in their constitutions give to its units the right to secede from the federation ?
1) US.A.

2) Canada

3) India

4) China

foeer 7 & fra_, araet wfdener F s 1 99 @ quw g &1 feer fear @ 2
D) wgera == 3R o

2) feATEr o

3 g

4) T

Ques # :66

Which one of the following organs is having the real authority in China ?
1) National People's Congress

2) President

3) Standing Committee

4) Vice-chairman

HieT #, fAea 39 & § fFuF I adafas Fcarg 2
D) g o1t s

2) qrsgafa

3) Turh wfafa



4) 39 .- 3reeT

Ques # :67

Which one of the following statement is correct ?

1) The British Prime Minister can submit a bill to a referendum.
2) The President of China can submit a bill to a referendum.

3) The President of France can submit a bill to a referendum.
4) The President of India can submit a bill to a referendum.

A A s FaT T E 2

D) Tt o1 genret Y veh fadereh ol ST T8 3 forT Sed 9 AT & |
2) feT 1 g T AU B STAd HIE & forT e I FHATE |

3) Wi T TETTHAT Tk FALRIe @Y ST G & forT Sedd X e § |

4) R T FUTAHAT U T Y FTAAT HIE & T T R T |

Ques # :68

Which one of the following countries provide for dual citizenship ?
1) Britain
2) France
3) U.S.A.
4) China

foer ot 7 @ fFeat qavr - TR ar i sqaeuT § 2
D e

2) g &

3) gerd T AR

1) AT &

Ques # :69

Which one of the following organs is regarded as 'the balance wheel of the American Constitution' ?
1) President

2) Supreme Court

3) Senate

4) House of Representatives

fovet 3fat & @ 3rARFeT wiener & e T arar afgar Hlaar A Ararg 2
D) qregufar

2) gafoa =array

3) dere

4) giafafer gem

Ques # :70

Assertion (A) : The British Party system is said to be bi-party system. Reason ( R) : This is because in practice
only two parties play a vital role in the national affairs.

1) Both A and R is individually true and R is the correct explanation of A.

2) Both A and R is individually true and R is not the correct explanation of A.
3) A is true but R is false.

4) A is false but R is true.



fereTaqds FU(A) : frest i g YTl FY gfagelIT YuTTel F3T SI1aT § | TH(R) : T§ ST, FHIfF
IaER # TS Frif i Faer &Y gl 1 & 9@ HfAFTE

D) AGREA T ST H T E TR, A HT TE [adTaT &

2) A g R QT TehTeh! §9 7 G § AfHeT R, A &7 GET fada 78T &

D ATTE, AfFTRTTE

DATATE, AT RTATE

Ques # :71

"British Parliament can do everything, except make a woman man and a man woman". Who among the
following said this?

1) Bejhot

2) Lord Bryce
3) De Lombe

4) H.J. Laski

"gTdls A UG T F& F A TaTH ¢ e e F sl 3R el By sk @ F|
fArafafaa & ¥ 38 vy« Faarg 2

D) ysrete

2)(—,”%-@@

3 Srees

4) TS e

Ques # :72

"We are under the constitution, but the constitution is what the Judges say, it is" Who among the following
said this?

1) Justice Marshal

2) Supreme Court of United States of America

3) Chief Justice of Hughes

4) Lord Bryce

"&H GTAETe & 3refier &, et Gidemsr a8 § St = Fga § ' | Aeafaf@a & a8 9 Faar
g2

D) sifeew aAngier

2) AR 1 Fafoa =g

3) s FaTaTeer e

4) oS smsw

Ques # :73

The term of the President of United States of America is;
1) Seven years

2) Five Years

3) Four Years

4) Six Years

AR ITSeafer HT FRAFI §;
D araay

2) qrar a9

3)



IR ay
4)3:3'@

Ques # :74

Which country's President is empowered with discretionary powers?
1) President of United States of America

2) President of France

3) President of Switzerland

4) Monarch of U.K

fFa g & Tegufa F Tl IRFR de=T § 2
1) et a2t 3rAReT 35 gy

2) e & Tseuta

3) fegestals & Teeufa

1) gaofs & gHEE

Ques # :75

The book "The American Presidency" is authored by :
1) Brown. S

2) Corwin. E.S

3) H.J. Laski

4) Wilson. W

& AR FHSH qFaF F ATF FIA 2
D srzat.vw

2) sRfgaT & T

3) Ty e

4 facaet saey

Ques # :76

Consider the statements regarding Article 1 of the Chinese Constitution. I. The People's Republic of China is a
Socialist State under the People's Democratic Dictatorship. II. This is led by the people of China and based on
the alliance of workers and peasants.

1) Only I is correct.
2) Only II is correct.
3) Both I and II are correct.
4) Neither I nor II is correct.

st FfeTe & AeTede | § FHafd FYyAl W AR A : 1. a1 & Sam) srfarahare
e, FTard) AT AORGT Th WATSAE! WS ¢ | IL SHHT Acfed dIeT Y STeTdT FTal ¢ T4T I8
eI Td FhETAT & Tosis uX IMRA ¥ |

D saer 1 @8

2) Shrerel 11 T &

3D1wal, At @Ery|

DI LT NTEE

Ques # :77

What among the following is not a feature of French Democracy :



1) Second Ballot System

2) Semi - Presidential System
3) Bi - Cameral Parliament
4) Federalism

faaifrd & ¥ Fa1 A AFaT Hr AT A€ 8 2
D) gfaca A9 gomeh

2) 31ef-3regeTIcHe YuTTel

3) gfa-Hegers Hae

1) gerare

Ques # :78

Identify the group of countries, which are 'One-Party States' :

1) Cuba - Venezuela - Qatar

2) Thailand - Laos - Spain

3) Saudi Arabia - Israel - Western Shara
4) China - North Korea - Vietnam

S I S U —
D) gt - degrueaT - e

2) yréels - 3N - T

3) §38Y 3RS - SIS - UTRTH HERT

4) AN - 3ca] PINAT - AT

Ques # :79

Among the following, which term is not exclusively connected with Federalism :
1) List System

2) Bi-Cameralism

3) Supremacy of the Constitution

4) Principle of Enumeration and Residuum

fraifra 3 ¥ wlad) reerad 3+ 70 ¥, oo Fuae ¥ gEEfRa a8 E
D) gfer yomelr

2) &Y - HeATcHhhaTG

3) wfaene & gafoaar

4) F0TAT U 3GV T A

Ques # :80

Identify the incorrect statement regarding Canadian federation

1) Canada was first to combine Parliamentarianism with Federalism.

2) Dominion (Federation) as well as Provinces received their powers from the Constitution.
3) Residuary powers are given to the Federation.

4) Lieuteneant Governor of Provines are elected by the Provincial Assembly.

TSt BV & FFa-y H Feqot Fu I yg=nfav

1) Sacare = gudrg O Siige) aTell ShellsT Tgell 327 2T |

2) AR (eereT) 3R wid 379+ Afeaar Giaere & wrod ad & |
3) 3rafirse eferaar heveeT I & IS & |

4) great & IU-TreauTel Wi faUT=as garT el ala ¥ |




Ques # 81

Identify the term not related to the British Parliamentary System :
1) Checks ad Balances

2) Shadow Cabinet

3) 'They Swim and Sink together'

4) Westminister Model

fafeer GUdT yorrell & 3rafOT ersgrad! #I ygarav
D) fori=or vd Herst

2) BT ATATE

3 3 ay - AR, AR AT - AT T

4) Jecfierel Algd

Ques # :82

Among the following which is not a feature of American Presidential form of government :
1) Indirect election of the President

2) Collective responsibility of Cabinet towards the Congress

3) Presidential Veto on Congress - Bills

4) Presidential Power to send message to the congress

fArifhd & @ Pl 3rdFY sreamaTcAS aHa A fAAvarAgi ¢
D) arsgafa &t srcaet et

2) i & ufa AfFEs 1 AR Scarkeca

3) g & fOgen! W Teeudiy Avenfer

) I P T2l AoTeT ST ASCUTAY e

Ques # :83

Consider the following statements regarding Montesquieu: 1. Separation of Powers guarantees Individual's
freedom. II. This theory was based on his observations of French Politics.

1) Only I is correct.
2) Only II is correct.
3) Both I and II are correct.
4) Neither I nor II is correct.

AUEEFY & FFao A fastiird Yy« W e Hifed : 1. afFd-gusor safFa -warasa
YT FXT o 11 T8 RAgTa i Tareitdll & 3eTah Aaeiiehel 9N TR o7

D g 1a@dr

2) Sael 11 TET &)

Diwar,  at gy |

DAL T IENE

Ques # :84

Among the following, which is not related to American House of Representatives :
1) Gerrymandering

2) Park Barrel Legislation

3) Log Rolling

4) Filibuster



fAesifea # ¥ Flaar 3w TR Y amfa a8 ¢
D RsisRer

2) qrép R STaEATIA

3) ifar Qfefar

4) fpfaraee

Ques # :85

Match List-A with List-B and select the correct answer
using codes given below the lists:

List-A List-B
(Basics of Executive Legitimacy) (Related Country)
(&), Presidency independent of Legislature, (1) United kingdom ministry subject to
FParliamentary Confidence
(B). Presidency and Ministry are subject (Il United States of America
to Parliamentary Confidence
(C). Ministry is subject to Parliamentary (1) France
Confidence
(D). Presidency is independent of (IV) South Africa
Legislature
1) A-I1, B-1V, C-III, D-I
2) A-III, B-1V, C-1, D-II
3) A-I, B-III, C-1V, D-1I
4) A-III, B-1, C-II, D-IV

TA-A S TE-Ba wry gAfed fifed gar gl & &9 g
T el HT TR K §T Tl IR AT
A B

(FHETIfoET #7 FETAT FT ATUR) (Feataa &an)

(A). faenfeT & T@aa Tegula, AfwEsE (I) gerses faarsa
o fasam & 3l

(B). Treafy ve AfFse THeR A (I) §geFaT T=T 3AIRT
& el

(C). Af3Fsd Tue deaw & eda (1) sy

(D). Treeuta faenf&er § w@aa (IV) gfaTor 31hierT

1) A-IL, B-1V, C-I11, D-I
2) A-IIL, B-TV, C-1, D-TI
3) A-IL, B-III, C-1V, D-TI
4) A-IIL, B-1, C-II, D-IV

Ques # :86

Which among the following is not a part of China's executive :
1) Central Military Commission

2) The State Council

3) President

4) The National Council

forifeda & q Siaar e Y FRGITorFT FT REAT AL ¢ -
D) g afaes 3marer

2) =3 - gRVE
3)



et
4) e aftwg

Ques # :87

Standing Committe of which National Legislature acts as National Parliament as well as Head of the State and
even like Supreme Court?

1) House of Commons of Canada

2) Federal Assembly of Switzerland

3) National People's Congress of China
4) National Assembly of France

o wedrr frenfer & vl wfAfa wda wwe F o Usw - yHw ve watew sarery S o
HIH FIAE 2

1) eATar &7 2139 3iTH rAd

2) Reqesrals fr gy ga

3) et Y TSET A - FAF

4) I T USSR FHT

Ques # :88

Identify the incorrect statement regarding Judicial Review in United States of America :

1) It is not expressively mentioned in the Constitution

2) The Supreme Court only reviews that the procedure be followed, not the content of the Procedure.
3) The brief size of the Constitution widens the scope of Judicial Review

4) The Supreme Court avoids reviewing Constitutional amendments.

TIFA Usg AR H 7T TRIadT & FFaey 7 IRl #3+ 1 wgafav:

D) srepr wifarent # dyera §9 & Seord G 3N T |

2) ITadH T hddl I T cAIeheT Xl %ﬁmwwgmﬁ,ﬂ%QﬁW*W
oI |

3) wfaens &1 \@fEred ¥ 50 &7 F fAEd FGATY |

4) FTaan Farery AT - HRMHT & TAraeitesT U FAT ¢ |

Ques # :89

Assertion(A) : Liberal Constitutionalism emphasizes concentration of governmental powers. Reason( R) :
Concentration of governmental powers may lead to Autocracy.

1) A and R are true and R is the correct explanation of A

2) A and R are true but R is not the correct explanation of A
3) A is true but R is false

4) A is false but R is true

HYA(A) : IER-TTAUTAGIE AP ATFAAT & Thegor IT a8 T &) FROT(R ) : ATHRT ATFAIT 7
THegUT FAcoTaRar H AN T AT THATE |

D AwaREET G § TuTR, A Fr @ carean |

2) A Ud R &lelt T € e R, A 1 T8 e A § |

3) A "I %’, ﬁﬁrgR}ich %—|

4)A3m?q%,ﬁnTgrRFl?€r%|

Ques # :90



Assertion(A) : Parliament is Sovereign in United Kingdom. Reason( R ): Scope as well as exercise of
Parliament's power is unlimited.

1) A and R are true and R is the correct explanation of A

2) A and R are true but R is not the correct explanation of A
3) A is true but R is false

4) A is false but R is true

FYA(A) : To15¢S FersH F HHG TW 8] FWON(R ) : UG HT ATFa F1 817 3 3reraw, A g
) ATd R G AT & FUTR, A Fr @y sarear ¥ |

2) A TE R QA e § e R, A T HEY TR AET & |

3) A Hcd %’, Irzhc-giR}Ich %’]

Y A ETE, e R AT

Ques # 91

Which one of the following statements is correct?
1) The Preamble is not a part of the Constitution.
2) The Preamble cannot be ammended.

3) The Preamble is a part of the Constitution.

4) The Preamble is of secondary importance.

A s A Y FTaTFIT TN E !

D) 3z dfgene o1 e g § |

2) 3 AT 7 TN FET ToRAT ST AT |
3) AT e &1 emaT & |

4) 3ARAHT T MoT HEgeea ¥ |

Ques # :92

Assertion(A) : India has adopted the parliamentary form of government. Reason( R ) : The President of India
is the titular head of the State while the Prime Minister is the real executive authority.

1) A and R are individulally true and R is the correct explanation of A

2) A and R are individulally true but R is not the correct explanation of A
3) A is true but R is false.

4) A is false but R is true.

fRTIYE® FU(A) : AR o FHET T & FTT F) TR § | dH(R) : HRA T TSeqfe T54
T AT 3regeT §, Tk TeeTa= F I aEdTas IR ATFT & |

DAGREAT TR ST H TA LT TR, A FT T a1 ¢ |

2) A G R ST Tt §9 & T &, SIfheT R, A 71 TE) A9 8T & |

3D ATEEAFARITATE |

DATITE IfFTR AT |

Ques # :93

A new All - India Service can be created by :
1) A resolution of the Rajya Sabha

2) An Act of Parliament

3) An Order of the President

4) A resolution of UPSC.

TS AdleT HTAT - HRAT Fa1 HY AT H AT TAFAT §
D) 3152 - @emm & wEaTa g@nT



) grwe 3 O g
3) IrSgUfeY o 3TeRT AT
4) HEXT e oiteh AaT AT & TEATT R

Ques # :94

Constitutional safeguards to civil servants are ensured by :
1) Art. 310
2) Art. 315
3) Art. 312
4) Art. 311

ol St 8 SR e g R A d
D 3e1: 310 g@nr
2) 31: 315 g@RT
3) 31: 312 g@RT
4) 31 311 g@RT

Ques # :95

Match List-I with List-Il and select the cormrect answer by
using the codes given below the list.

List-l List-lI
(a). Art. 17 (I} Rightto Freedom
(b). Art. 19 (i) Prohibition of employment of
children in factories etc.
(c). Art. 21 (A) (ili) Abolition of Untouchability
(d). Art. 24 (iv) Rightto Education

D (@)-(), (b)-(iii), (¢ )-(i), (d)-(iv)
2)  (a)-(iid), (b)-(iv), (¢ )-(iD), (d)-(1)
3)  (a)(iii), (b)-(1), (¢ )-(iv), (d)-(i)
4 @-(1), (b)-(iv), (¢ )-(ii), (d)-(iii)

-l 7 AR & fAee J R e w@er e @ i

- -
(@). 31T 17 (i) Tara=a HTERR
()3 19 (ii) FR@w 307 F Tt & e
(c). 31T 21(A) (iii) 37 E9=RTAT F A
(d). 31eT: 24 (iv) feratm &1 HfEER

D (a)-(1), (b)-(iii), (¢ )-(i), (d)-(iv)
2)  (a)-(iii), (b)-(iv), (¢ )-(i1), (d)-(1)
3)  (a)-(iii), (b)-(1), (¢ )-(iv), (d)-(ii)
4 (@)-@), (b)-(iv), (¢ )-(ii), (d)-(iii)

Ques # :96

Which one of the following pairs is not correctly matched?
1) Art. 39(A) - Free legal aid

2) Art. 41 - Right to work in certain cases

3) Art. 51 - Promotion of International peace and security.

4) Art. 13 - Equality before Law



A d s AT

D) 317 39 A - ¥ 2[ee fafres wgrar

2) 317; 41 - T SR F FH &1 HOFR

3) 31T: 51 - sy enife 3R Raw Hr 3fdgfy
4) 317 13 - Fafer & wAeT FACT

Ques # :97

Which one of the following Schedules of the Constitution must be amended, if a new State of the Indian Union
is to be created?

1) First
2) Second
3) Third
4) Fifth

I ARl W & Al Tk AT T T FARTOT T 8, O Wieer Ay wlerelt srepee 7 wavera
AT G 2

D wermr 3t

2) gl

3) fradra

RAICCIE:

Ques # :98

The members of The constituent Assembly which drafted the Constituent of India were :
1) Nominated by the British Parliament.

2) Nominated by the Governor - General.

3) Elected by the Legislative Assemblies of Various provinces

4) Elected by the Indian National Congress and Muslim League

TR - T3 e AT & 9T Y T=114T, 3T ST H7:
D) fyfeer @ae eaRT AieTgeT fohar arar ot

2) IMGeR - SR SaRT HelleTaa T 1T AT

3) fafdes gedl & e Hsell gant Faifaa gu

Y sl g i 3R A et gany e ge &

Ques # :99

Which one of the following rights was described by Dr. B.R. Ambedkar as the 'heart and soul' of the
constitution ?

1) Right to Freedom of Religion

2) Right to Property

3) Right to Equality

4) Right to Constitutional Remedies

et 3T 7 A o7, AT rFasH o AR 3R F Giaene &1 e va srcaAr sarTar 2
D) ers§ &1 Tac=ar &1 31fReR

2) gofed &1 3fsR

3) FHATSET 1 HRER

4) gfaenfere sqaRt &1 3UsR



Ques # :100

With reference to the Constitution of India, which one of the following pairs is not correctly matched ?
1) Education - Concurrent List

2) Income Tax - Concurrent List

3) Public Health - State List

4) Census - Union List

R & dRue & oot A, R i A slaa e
D) fRverr - woach g

2) 3R - gHEACT g

3) e TaTELY - U I

4) SfeteToteT - Fer g

Ques # :101

Which of the following articles of the Constitution broadly govern the relationship between the Prime Minister
and the President ?

1) Art. 73
2) Art. 74
3) Art. 84
4) Art. 64

TR & 7T 3reTedal # § Flaar Rega w9 # weres va wsgufa & daut # FuiRa wars

D 311 73
2) 31: 74
3) 31T 84
4) 31T 64

Ques # :102

Under which Article, Financial emergency can be declared in India ?
1) Article, 356
2) Article, 357
3) Article, 360
4) Article, 354

HRa A Reedia 3T Frelier Rufa fra se1ede & siaeia, ST Hramawdr ¢ 2
D) e, 356
2) 31T, 357
3) 317, 360
4) 37T, 354

Ques # :103

Who is empowered to summon the Joint Sitting of both the Houses of Parliament ?
1) Speaker of the Lok Sabha

2) Speaker of the Rajya Sabha

3) President of India

4) Chief Justice of the Supreme Court



HHE ¥ a1 el Y T dow o A afFa frwe ke d
1) heres & @smmafa

2) qeTEHT & FHGTS

3) s & Trseufa

4) gafoa =arrag & FE =T

Ques # :104

Regarding Judiciary, India's Constitution provides :

1) Double System of Courts

2) States freedom to organise Courts

3) No uniforms organisation

4) Single integrated system under the Supreme Court of India.

SR aF FATAIITHT HT W ¥, W T AT TUa Fard :
D) 2edr =arg sggear

2) TS YN wATITTAT I FITST et & EadT

3) IS Teh T AET &

%) wafoa =arerery & 3refieT Tehiehd caaET

Ques # :105

"Indian Constitution is a Lawywer's Paradise."” Who among the following said this ?
1) H.V. Kamath

2) P.C. Deshmukh

3) Himmat Singh Maheshwari

4) Mahaveer Tyagi

"HIA T HiUTe gl o1 Faer §" Arafaiad & ¥ g8 o Far?
D va g sy

2) dr. & g

3) feFra Rig A

4) FgrdR et

Ques # :106

Which objective of the Preamble of the Indian Constitution specifically assures the harmony between
Individualism and Collectivism ?

1) Justice
2) Liberty
3) Equality
4) Fraternity

HRART T i 3TARAFT F1 Flerar 3227 AfFaarg va wAfCearg & 7eT WHIeT &1 fFeva:
gaRad wars ?

D) =2

2) Tacdr

3) gear

4) dyea

Ques # :107



Match List-A with List-B and select the correct answer using
the codes given below the lists :

List-A List-B
(Office of the Constituent Assembly) (Person holding the Office)
(A). Speaker of the Constituent Assembly (1) Benegal Marsingh Rau

(Legislative)
(B). Vice President of the Constituent Assembly (Il) V.T. Krishnamachary

(C). Secretary to the Constituent Assembly (llI) Ganesh Vasudev Mavlankar
(D). Advisor to the Constituent Assembly (IV) HV. Ayangar

1) A-I, B-II, C-1V, D-1I

2) A-III, B-II, C-1V, D-1

3) A-III, B-1, C-II, D-1V

4) A-II, B-1V, C-III, D-I

A & TH1-B & arr gaAfer o Hiferdr qur Gt &+ gu
T FHch HT FAET FIA T Tel 3R LT
TH-A qE+-B

(Hfeermer w31 & 9 ) ( AR =4

(A) FTaerm= |@em (faumit) & Ty (1) S=reTer g 9
(B) GTARITT | & IUTETET (1) 2T, FEUHARNT
(C)Hiden= & & dfka (IIl) 3ToTer ATEEE HIdoieht
(D) T T8 & FellghR (V) T4 3R

1)  A-L B-III, C-1V, D-II
2) AL B-II, C-IV, D-I
3)  A-IL B-1, C-II, D-IV
4)  A-IL, B-IV, C-IIL, D-I

Ques # :108

What among the following is not included in the judicial interpretation of article 14 of the Constitution :
1) Parliamentary Supremacy

2) Rule of Law

3) Natural Justice

4) Reasonable Classification

forssifere & & 7o ST & 3re7ede 14 F e e F nfAer a8t 8
D) g9éra gafeaan

2) IeTeT T AT

3) dafitew =

%) gferagera geffeor

Ques # :109

Consider the following statements regarding Right to Property : L. Its positive mention was in the article 19(I)
(f). II. Now it is mentioned in the constitution only as a negative right.

1) Only I is correct.
2) Only II is correct.
3) Both I and II are correct.
4) Neither I nor II is correct.

"Yfed & HAFR F Foaetr F AeTird FYaT ) TR AT : 1. $HH FFRICAS 3679 06
19(1)(F) & AT | IL. AT H 379 SHFT Sool AT T AhRIcHS JITAFRFTTH ¢ |
D a1 adrg|



2) FaT 1T E |
D1, et Ty |
DFar, TE 1T

Ques # :110

Among the following Directive Principles of State Policy, What is literally a Constitutional 'Obligation’' of the
State :

1) Living wage for workers

2) Protection of monuments of national importance
3) Prohibiting the slaughter of cows and calves

4) Safeguarding of forests and wildlife

=7 - Aifa & Aeaifra s acal 7 |, Flar asger: vsg fHrafRuas aegar g :
D) #aeRt & fore fate Al

2) TSET FAgeed & GEAR! T EI&T0T

3) a2t ud Sost & g & ANy

4) g1e7 vg g Sfat & T

Ques # :111

In the verdict of which case, Supreme Court has established that the harmony and balance between the
Fundamental Rights and Directive principles of State Policy is an essential feature of the basic structure of the
Constitutions ?

1) Re - Kerala education Bill Case, 1958
2) Golaknath Case, 1967

3) Kesavananda Bharti case, 1973

4) Minerva Mills Case, 1980

forer a1g & faotar 3 sTaaw =arera A 97 geufa frar & Ao Ao e e aew - Afa &
fAeers deal & AT FHSET T ol HIAUTA & el 21 Y Ircgraey s RAAvare 2

D 3 - e wopher faer are, 1958

2) STt aTg, 1967

3) RIaeTTy R AT, 1973

4) fReTaT few are, 1980

Ques # :112

Match List-A with List-B and select the correct answer
using the codes given below the list :
List-A List-B
(Supreme Court Case) (Feature of the Basic Structure of
the Constitution Proclaimed)

(A). Keshvanand Bharti Case (1) Unity Integrity of The MNation

(B). Indira Nehru Case (1) Supremacy of the Constitution

(C). Ragunath Rao Case (I} Federalism

(D). 5.R. Bommai Case (IV) Equality of Status and Opportunity
1) A-III, B-1I, C-1, D-IV

2) A-II, B-1V, C-1, D-III

3) A-IL, B-1V, C-1II, D-II

4) A-1V, B-1, C-11, D-1II



FAA T B I A B e e & A
o aTT 2T T AT AR gU WE W I ;

A qH-B
(3THaR ~Ed FT d16) (G & A7 et $1 fashvar i sg@iom)

(A). Sherdl=g &Tdr dlg (1) Irsg T Tehdr HAR @Al
(B). 3T =ige drg (I) Sfaen=r & gafear
(C). Tg=T¥ T4 dig UDEEELH
(D). TH.HR. aFHS a5 (V) 9fdsar vd Haa T JAd0
1) A-II1L, B-11, C-L, D-IV
2) A-11, B-1V, C-1, D-III
3) A-1, B-1V, C-III, D-1I

4) A-1V, B-1, C-11, D-1II

Ques # :113

Identify the correct statements regardig Constitutional Amendments : I. Constitutional amendment bill can be
introduced in any house of the Parliament. II. It can be passed through voice vote. I1I. This is Parliament's
Constituent Power, not legislative Power. IV. Constitutional amendments are not subject to Judicial Review.

1) Iand III
2) I and III
3) Tand IV
4) Il and IV

Faenfars Tl F TFaew F GE FYA] FT IgAIAC : 1. Haenfas wees R99s gae F frdt
HeoT A QTR frar ST wFar ¢ | 11 % eafer 7a @ e frar s asvar 8 | 110 I8 66 1
wfaemh afFa 3, a1 B furh afFa | 1v. gdnfas st =afs gauadisa &1 Ry adi g
D1wam

2 nud

Dnudv

Deav

Ques # :114

Which one of the following entries of the State list is subject to laws made by Parliament :
1) Ancient and Historical Monuments

2) Public Health and Sanitation

3) Prisons

4) Betting and Gambling

T G 1 i & @ st 9 e GaRT T HT & e
D) greier v efaeiiaes deare

2) dlieh TI€LY UG TFTIAT

3) HRER

4) g9 vd &g

Ques # :115

Consider the following statements : 1. Part IX of the Constitution is titled as "The Panchayats'. II. Nothing in
this part shall apply to the Scheduled Areas and Tribal Areas referred to in Article 244 and and the Darjeeling
Gorkha Hill Council.

1) Only I is correct.
2) Only II is correct.
3) Both I and II are correct.



4) Neither I nor II is correct.

faraifrd FUa W) R A : 1L e & 31mer-9 1 ofids &, 'Torad| 11 37 61 Hr F1E a9
7ot 244 7 fafése srqyfara et va sterenfar & o aar grefifaer AT ddir aftwe 9 @y
oTet gt |

D saer 138

2) Saet 11 TEY |

Diva, At Ty |

DINL TN T

Ques # :116

Identify the correct statements :- I. The form of oath or affirmation by president is metioned in the 3rd
Schedule of the Constitution. II. The election procedure of President will continue, even after any State
Legislative Assembly is dissolved. III. In the Constitution, the procedure of 'impeachment' is mentioned only
for the President. IV. As soon as the imeachment resolution is passed by the investigating House, the President
is removed from his post immediately.

1) T'and III
2) Il and 1T
3) llland IV
4) ITand IV

HE FUAT HY IGAINAC : L. AT G@RT AT AT FFAATT T GHT FFerTeT 1 ey vt
sfafaa g 1. 5 o Rureras & o9 81 uv sft Iseufa i fAdwer ufhar sy w@eit | 111
wfaurs & AR i afFar Faa tseufa & v sfeaf@a | 1v. s=avoredt et gart
HRITAANT - FFhew TR T ATer & |1 &), Tegufer deanrel 39e UG g7 AT SI1ar ¢ |
Diwan

2) nwd i

Dmudv

Diwgv

Ques # :117

Two Anglo-Indians, nominated to 16th Lok Sabha, belong to :
1) Jharkhand and Kerala

2) Chhatisgarh and West Begal

3) Delhi and Goa

4) West Bengal and Kerala

163 AFTHT H AT &1 3T - HRATA FTHIT§
D smgus g e @

2) BedreeTe Ug IiRhH §ae &

3) feeo vg Mar &

1) qfRTH §oe Ud IRA T

Ques # :118

Among the following what is/are the Extra Ordinary Original Jurisdication of the Supreme Court : I. Inter -
Governmental disputes II. Enforcement of Fundamental Rights III. Election of the President I'V. Election of
the Vice President

1)L, Il and IV
2) Il and IV
3) I and III



4) 11 only

fe=ifa F @ a1 3va e FUF AT AT AANOFR Y/ § : 1L 3R - WER) a1 Jqa
FfHRY 1 aRadet 11 Teeufer F1 gema 1v. 39 Teufa F1 gama

DLmueav

Dnuav

3 1Tdm

4) Shael 11

Ques # :119

Among the following, which case is famous as the first Public Interest Litigation :
1) Bandhua Mukti Morcha vs. Union of India Case

2) Hussainara Khatoon vs. State of Bihar Case

3) Lakshmi Kant Pandey vs. Union of India Case

4) People's Union for Democratic Rights vs. Union of India Case

fAenfeha # @ Flaarag yaA SaRTIRFIF ARG E !
D) 3 Afed Arat sam sRa w9

2) G 3T WIT =TT G T AT

3) FeAid Uie §ATH ARG U dle

4) Qe AT BIX SHIH R ASTH T 3R T aTG;

Ques # :120

Assertion(A) : In Bommai Case verdict, the Supreme Court has laid down that with the Proclamation under
Article 356, State Legislative Assembly should not be dissolved simultaneously. Reason( R ) : There may be a
possibility that Parliament do not approve such Proclamation.

1) Both A and R are true and R is the correct explanation of A.

2) Both A and R are true and R is not the correct explanation of A.
3) A is true but R is false.

4) A is false but R is true.

FUA(A) : NFAS 15 & AT F sTaan ~marerT ¥ 77 varfia far § @ 3regesa 356 & siadta
SEENTUIT & | - WY TS - AUTATHT Y 8737 71 R 10 | FRON( R ) : T§ TF GHIGT § & waa
T SEEINOIT T IeTAIGT AT HX |

) Aud R EAT T E TUTR, A T GET STTEAT Y |

2) A d R @t T § Rhe R, A 1 T AT A ¥ |

3 AT E, g R 3T |

Y AFET R, g R AT E|

Ques # :121

Who among the following is the main exponent of Realist theory?
1) Woodrow Wilson

2) Robert Tucker

3) Raymond Aron

4) Hans Morgenthau

foreer & & Turdard Rgra 1 v e awdF g ?
D =0 faews
2) € THT



3) s AR
4) g amfars

Ques # :122

Which of the following pairs is not correctly matched ?
1) Karl Deutsch - Communication approach

2) Hans Morgenthau - Realist Theory

3) Thomas Schelling - Game Theory

4) Martin Shubik - Proletarian Internationalism

ﬁmﬁ#ﬁamsﬂyﬁﬁw%:

D) 1ol st - o 3umerH

2) g Antars - gurdard fAeia

3) uterg AfeleT - @ RAgia

4) e i - IgRT FRTIATS

Ques # :123

Which one of the following is not an element of the national power of a state ?
1) Natural Resources

2) Technology

3) Population

4) International Law

T & O FlaaT v T A T ATFd FT Acca A& € 2
D) vrepfares amerst

2) qepetthr

3) 3rremeY

Y e fafe

Ques # :124

Which one of the following is not a method of Balance of Power ?
1) World Public Opinion

2) Alliance

3) Creation of a Buffer State

4) Armament

e # & Flaeht afFT wgew Hroefaadi s 2
D) faeg sieda

2) 34y

3) 3T E T 1 AT

4) eredetoT

Ques # :125

The concept of collective security first appeared in the :
1) Treaty of Westphelia

2) Munich Pact

3) Covenant of the League of Nations

4) UN Charter



A& & I FTUROT FATUH The g5 :
D) arerfoar afeg

2) Fofaa gAsia

3) reg e & ST A

4) Tgeret g EoTT

Ques # :126

Which one of the following countries is not a member of SAARC ?
1) Maldives

2) Mauritius

3) Nepal

4) Bhutan

et &2 & F FIAUT ATH(SAARC) FTHETT LT §
D) Arered

2) siRfa=E

3) Jurer

4) serer

Ques # :127

Which one of the following is not the aim of SAARC ?

1) To promote welfare of the people of South Asia.

2) To accelerate economic growth.

3) To strengthen co-operation with other developing countries.
4) To safeguard the security of its member countries.

foFT & ¥ W (SAARC) T HITHT 3T T &

1) gfaroft ofRram &Y SeTar & Fedaror HF WchTge HLeT
2) 3nf¥en faera v a1 Torem

3) 31 fasrasier &ait & A1 HEANT AT FIT
4) 39y FeE &Rt T AT TR FHLAT

Ques # :128

Which one of the following is not a method of pacific settlement of international disputes ?
1) Blockade

2) Negotiation

3) Arbitration

4) Conciliation

RIS FT8Y & Aifaqds fAver #1, AT A ¥ wladft wefaadid 2
D) Arerrady

2) areft

3) RarasT

4) gaETeT

Ques # :129



The final goal of the Marxian approach to international relations is :
1) To overthrow capitalism

2) To intensify class war

3) To establish International Communist Community.

4) To encourage neo-imperialism

AT FFIUT A, ATFUGTEY SUTTH T 3T o783 :
D) qaméY st 3@1g thehel &

2) gat erg ol g AT

3) STERTSERT FTIATET TG Y TATIAT FYAT &

) 719 - FHATSIATE Y WIcHTE HIT &

Ques # :130

"By Power is meant man's control over the minds and actions of other men" The game of power is sustained
by the irrefutable fact of interest"” Who among the following said this ?

1) Morgenthau

2) Machiavelli

3) EL. Schuman

4) George F. Kennan

AT 1 3Ty T8 § F A, v safFa & e ik wrt 1 fogaor @ | afFa A sw e
3R ¥ R Peafaf@d & & a¢ fraa a1 2

D) aAvfers

2) FHegraelr

3) . e, FA

4) ST U, Sl

Ques # :131

Who said that system's theory approach provides the only possible method which can assure the development
or Scientific Politics ?

1) Joseph Frankel
2) Kaplan

3) J.D. Singer

4) Richard Little

caFt Rigiar i Hanfae Rftr sy Far § o weree R w1 e @aa ¥ ; g e
FATE?

D) Shraw therer

2) el

3) A R

4 s fafeer

Ques # :132

Which Article of the United Nations Charter mentions that 'The organisation is based on the principle of the
sovereign equal of all its members.'

1) Article, 7

2) Article, 2(1)
3) Article, 13
4) Article, 8



YFA TS VY & A & o 3reTeog 7 77 aftta § & I wa gt vt i garerar & Rgia w®
areieT § 2

D sreese, 7

2) 317, 2(1)

3) 3T, 13

4) 3T, 8

Ques # :133

As a guide to Foreign Policy making, Idealism in International Politics is essentially a variant of :
1) Multi - Culturalism

2) Neo - Gramscianism

3) Dependency School

4) Liberal Internationalism

faer-Afa samer & AREF & T A, AT Tsieiial 7 eeiarg faarda: e IR §
D 5 - depfoare &

2) 719 - arFRfaTe

3) e gser 1

4) 3ER - ATSCATE i

Ques # :134

Identify the incorrect statement regarding Neo - Realism :

1) Security Dilemma being the main theme of Defensive Realism.

2) Maximizing ' Relative Gains ' being the main theme of offensive Realism.
3) Emphasis on Multi Polarity for Stability.

4) Prevalence of International System, still it being essentially Anarchic.

9 Iy & FFa Ffeqet Fy F ggaifav

D) vatressr arardiaTe o1 e #1Ta AT - e g |

2) 3T TUTIATE T T $TT ATIET AT T 31Tt 0T ghetr |

3) fea & fore a5 - YdeT W/ a e |

4) FASET FTEAT T AYATATT, U SFHT ITAIRT: 3RTSTH gleT |

Ques # :135

Consider the following statements regarding Wallerstein's World Economy : I. Its spatial dimensions are
Periphery, Semi-Periphery and Core States. I1. Its temporal dimensions are cyclical rhythms, Secular trends,
Strategy and Computations.

1) Only I is correct.
2) Only II is correct.
3) Both I and II are correct.
4) Neither I nor II is correct.

IIRENT F 32T - rfcgavyr ¥ FFa g Aeaifrd F9« )W R T : 1. s90F TUEwF
3T § - aRef, e aRefir vF A Te | 11 56 ot I § - aTe, e wafeadr,
TOTSHIfer U HTYET - 0T |

D&aar1adrg |

2 FadT 1T E |

3) 1ud 11 T TEY



DaarL T 1a g

Ques # :136

Who is the author of the book, 'The Accumulation of Capital' ?
1) Hilferding

2) Karl Kautsky

3) Rosa Luxemburg

4) Joseph Stalin

& TFFA I HCd' TEaF F1/H AGH/ATAH S :
D feemfEa

2) et FicERT

3) AT FreFeTAT

4) S Ferfore

Ques # :137

Among the following which is not a feature of Imperialism :

1) Rise of Finance Capital

2) Export of Capital

3) Formation of International Monopolistic Capitalist Associations
4) Union of World Imperialist Nations

Afae F IepeR, Prafafae & @ Flaw amrsae f Rdvaradid
D faea - g &1 36

2) 950 o forafa

3) STeRATSEr TRy GevaTd) Fe o

4) faeg gHsTare! sl 1§

Ques # :138

Match List-A with List-B and select the cormrect answer
using the codes given below the list -
List-A List-B
(Core theme of Marxian/New Marxian (Thinkers)
Theory of International relations)

(A). Impenalism, at the inception of Capitalism (I} Andre Gunder Frank
(B). Centre - Penpheral Theory (Il) Robert Cox

(C). Development of Under-development (Ill) Rosa Luxemburg
(D). Neo-Gramscianism (V) Raul Prebisch

1) A-I, B-11I, C-1V, D-1I

2) A-1V, B-II, C-I, D-III

3) A-III, B-1V, C-1, D-1I

4) A-111, B-I, C-11, D-1V



AT GA-BY gAfaT S qr gt & 9 Re
T Fel HT TART Fd §T el I AT

T-A T=-B
(AT Haet & AEHAAT A (far=m=)
Rrquia &1 7@ )
(A). HTHTSAETE, Iitamg & AR & | (I) 377 [T ek
(B). &z - uRfr fagad (Il) Iae Fiag
(C). 3reu-Tashrd &1 fasra (1) V=T AFATII
(D). FAg-ImFeiaTg (V) I3eT Ofger

1) A-1, B-III, C-1V, D-TI
2) A-1V, B-I1, C-1, D-III
3) A-IIL B-TV, C-1, D-TI
4) A-IIL, B-I, C-II, D-IV

Ques # :139

Consider the following statements regarding Functionalism : I. It is a stream of Institutional Liberalism. II.
After the increased co-operation among the Non-State Actors, the Nation-States would evaporate.

1) Only I is correct.
2) Only II is correct.
3) Both I and II are correct.
4) Neither I nor II is correct.

FAAdIG & FFaT A AFifhd FYT WX AR A : 1. I8 TTATCHF 3ERATE F1 TH 4RI § | 11
I - ToT FAT F fiT 7 T F 91, WA v 81 SACT |

D Faer1adry|

2) FaT 1 TETE |

3) 1 v 11 St |E &

DAL T NTE

Ques # :140

Match List-A with List-B and select the cormrect answer
using the codes given below the lists:

List-A List-B
(Stream of Decision Making Theory) (Scholars)

(A). Personality Factor Study (I Harold & Margaret Sprout
(B). Milieu Study (1) John Burton

(C). Actors Study (I} Alexander & Juliette George
(D). Process Study (V) Bermard Cohen

1) A-1V, B-III, C-I, D-II

2) A-II1, B-1, C-1V, D-II

3) A-1V, B-I, C-1I, D-IV

4) A-111, B-1I, C-1, D-1V



TH-A S gH-BY gART SIS qur gt & A9

few T el 1 gAT FIJ §U FWel IW AT
A -8

(faferemwr fomfor et #r am) ( frane)

(A) aFdcd FRS HTTT (I) 8XTes Ua AFERE T3
(B) ofiger e EGEEG]

(C) Fal 3Tt (Ill) TeEsist wa Sfere dAfel
(D) TfgaT 3reae (IV) F=15 g

1) A-1V, B-III, C-1, D-TI
2) A-IIL B-I, C-1V, D-TI
3) A-1V, B, C-11, D-IV
4) A-IIL, B-I1, C-1, D-IV

Ques # :141

Consider the following statements : 1. 'Prisoner's Dilemma’' is a game of mutual threats only. I1. 'Chicken
Game' is a game of threats and promises.

1) Only I is correct.
2) Only II is correct.
3) Both I and II are correct.
4) Neither I nor II is correct.

feaifra Fa«t ) R Hifo : 1. 3 A glur REw Faa yafrai s ae g | 1L Rea g
AR} vg R FTRTE |

D &aer 1881 ¢ |
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Ques # :142

Identify the four elements to measure the efficiency of Feedback process, as described by Karl Deutsch :-
1) Load, Lag, Gain and Lead

2) Gain, Distortion, Lag and Reproduction

3) Channels, Fertility, Stability and Lead

4) Load, Distortion, Background Noise and Load Capacity

FTel ST GANT AfSTd IR dcdl Y Tgatary, St Sfawaor afthar At Ferear &1 A9 #+19 8 :-
1) o112, freier, oieT ud 37aram

2) 31re, faspeh, faeler Ta geredre

3) FTeTH, 38T, fERAT Ud 3mEran

4) 91, e, TSa9fA T AR Td 6K - T

Ques # :143

Classes of International Relations based on Power, as described by Bachrach and Baratz, do not include :
1) Maintenance Relationship

2) Influence Relationship

3) Force Relationship

4) Manipulative Relationship



Y% 19 N ganr afvia afFd - 3remRa FawRredT daur & et & enfAa i @ :
D) steretor weer

2) werTa Herer

3) gor GeEr
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Ques # :144

United Nations Organisation is based on the principle of :
1) Collective Security

2) World Government

3) Balance of Power

4) Collective Defence

Ques # :145

Identify incorrect statement regarding Missile Technology Control Regime :

1) It was formed in 1987 by the G-7 countries.

2) It is not a Treaty, but an informal political understanding among member states.
3) India is not a member of this regime.

4) It controls export of goods and technologies that could make a contribution to delivery systems for weapons of
Mass destruction.

TaaTE SNy fa=r=ror srfdremaer & wawr 7 Ffeqot Fyer H ggniav

D) 5@ 1987 # St - 7 2if @R ST 13T A7 |

2) 7% e ST AT &, afcs TeEy - 32t & #eg IAqaes Toreiifaes THserT § |

3) R 57 ITRATEA T FeTT AT § |

4) 2 3o7 et v AT 35 vty Y Fovifirer e &, i oot TER & et iy areeh -
yonfardt & TRTET X Tl & |

Ques # :146

Identify the incorrect pair of Terrorist Organisation and main country of its operations :
1) Islamic State : Syria

2) Al - Qaeda : Afghanistan

3) Boko Haram : Nigeria

4) Hezbullah : Palestine

HTAFHATEY HITS AT IHHT AFHATHT F HET & F Ffeqet oo ) wgaifav
l)sﬁﬁ?@?:m

2) 37T - STICET ; A TAEAT

3) SYent g1 : ATSSRET

4) gorgeens : frforedlet

Ques # :147



Match List-A with List-B and select the correct answer using the
codes given below the lists :

List-A List-B
(Conception of Multi Culturalism) (Scholar)
(A). Differentiated Citizenship (). Will Kymilicka
(B). Adjustment of Various Cultural Identities
with the Virtues of Liberalism (). Bhikhu Parekh

(C). Recognition of Community based Identity (111y. Marion Young
(D). Group Differentiated Rights (V). Charles Taylor
1) A-IL, B-1, C-1V, D-III
2) A-III, B-1I, C-1V, D-I

3) A-1V, B-111, C-1II, D-I
4) A-I11, B-1, C-II, D-IV

TH-A & FE-BH gafaa FIfFd dur gl & A few aw &l
& TGN FJ T Tl Iw AT

A w8
(FgETF T #1 HHeTan) (ferem)
(A) Taséiha wAmaTiRenar UNCERETIGEDS
(B) 3eRaTe, & gl & ary fafaer
AEhideh Tl ol THE S (1) sfg g
(C) THE™ 3Tend ggare &I H=dl () ARz 7T
(D) §7F @HdFd HEHR (IV) = &oR

1) A-IL B-1, C-IV, D-TII
2) AL, B-IL, C-1V, D-I
3) A-1V, B-III, C-I1, D-1I
4) AL, B-I, C-TI, D-IV

Ques # :148

Among the following, which book is not authored by Francis Fukuyama :
1) 'Trust'

2) 'Who are we?'

3) 'The Great Disruption'

4) 'Origins of Political Order'

i & & Flere ras wifw FHamr gar @ adt g
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Ques # :149

Which theory of Regionalism emphasizes the role of 'Spillover' to create pressure for further Economic and
Political Integration :

1) Federalism

2) Republican Liberalism
3) Functionalism

4) Neo - Functionalism
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D) geare

2) T 3ERaATG

3) tefetare

4) 579 - BoleAdIe

Ques # :150

Assertion(A) : The Residual meaning implied in the concept of National Interest is Survival (Morgenthau).
Reason( R ) : The minimum requirement of Nation States is to protect their physical, political and cultural
identity.

1) A and R are true and R is the correct explanation of A

2) A and R are true but R is not the correct explanation of A

3) A is true but R is false

4) A is false but R is true

FYA(A) : AT 7T Y ITURON F 3AAET @AY - 3 ' 31f¥qcawaTor § | FRO7(T) : 3N
#ifae, Terefae vd WIEHias Tgdre HY BT FHIT TE - Tl H 7YAqH HaRIFATS |

) ATud R EAT T E TUTR, A T GET STTEATE |

2) A Td R gt T § Rhe R, A 1 T AT A ¥ |
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